0

Problem 1 We detlne flo coneaids os <l
| o o Tl @OS(CLW». Sé‘wcz(e Paﬁﬁe
| - . _
- = SM algua e S‘hﬂLe I/Cf uJeve.
1 1, ek deg e shay
>4 e, of) & A
| — -
\ O = L
\ "W ‘ > +
IL/—%J O T
a

l [ Wo_ wuitll use. 'FO@M(WG‘%—
e .- C heduchion ) butwd wad o
) Food o Gnducod cacved Lo |

X 1l W tla_
ur ke (oop with L - i‘”ﬁ“‘ e plux m‘j
b) find 1l eunex QLCSSLfOCt@l— | N
W R L%— >SS L/Q \ @2 - §12 N §a1
L, omd L, Creole }(WC\AOPPOS?(‘Q_ = "LIZL’| + LLQ
dﬁﬂ&wﬁg \L T dedima Po:.:f:;& %i.u-x ok o-F flo FOjQ——




CJ:Q,- = — diz = 4+ L(a%};‘_— ["‘dg'_%x
At
L. = R1,
. Al di
Rig = ~ha g - -°F
. %J— : “ité e

d-tr’\.u

_{L,_J_olr‘ = -;J—’Lu

Anidw

-

)

/



Heauiside step Lunche
A We wud o ewluate \M - O

\UZ
L +<O
) 4 ) . o ik
%LE_: T, dt(e(t)@@‘t)l | 6 (+) {4 o

We. hase 4= use_

d O &) — S 4 = Diac - 8o Mo -\Muc_‘h“ovu_
ot

o~ d T {g&s 5(T-) - gmgcw—)}

- T Slgec\ - %(t—_ﬂl
Ve n P@%Q%/s (G{U— Gg) 3EUQS US “HQ M*}Q\\Qﬁdf_&ﬁ &gﬁug:@(vovk_

d‘ o |
\/d‘f +%b£: E_‘LTZ_II g%&)-—%@:—_ﬂ] J

T



1w \Aomcrﬂ%eous S,f\(g\( ox Q,?Uaﬂzml/\ ot Ta Lo @
y\ N P@c)y = 9\(&3

\’\O\'S ﬂcz ajwl:c«/\_ t
_Pw - P®) S £ (<)
T

YW =yeae « e SHNeIEY ds

0

Whete £
| E U:) = S ds PCSB
‘tO

\U o \/LULL}-Q-— ‘\/\e( e

t
. 1"
P = gdS% - K&
O



&M& OuX SOM% cr'gr TZ@ C/\/\LLO\A/\OﬂQAAeOUS d}}}u&/o@ %Q @
@g(uc&@ L=
_ Rt

L (e _ B
L= Loe + %{6 —6eTE }

Se. L&@ e




IF Tos e — S F o

and o =dud o @Pﬂo.v + >T

S T
T )

LT ST
yoy) = — =
1/02(\ - €

Cyuploric. ot

}3) The ey dls.sZPodzé‘gl O N T>; R
oo —_\? 2L
' e 3 L@_J«-( g
E,_ = gdt L, )R ‘:-"’C L)RSQ dt
O
G . 5 Ve -—‘;')B‘&'fg_
n (LG%/\}@& C[t
o0 T




<

C) \n order to 3ra.(oh the solution and check its properties, we need to £ind

3000\ scal‘\nﬁ

t (‘t~‘\'3
: -~ ~ | :
%_(t_u_ - {@° —g(t;ﬂ@/ T , ©= & fime scae
2 L

L
dumemnsio o ss

So, how does this solution look for & shorter and shorter square eulse, which m‘\ﬁh’r
be Jr\\ou\ﬂh’r of like a delta-function limit i€ we take care of
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But as we scale the solution we do not have to worry about this last point
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we see that the l‘\m'\’r‘\nﬂ form for the solution as the pulse ﬁeJrs shorter is an
individual square eulse. This can be found analytically, but then a special care
has to be taken with respect fo the derivative of the Dirac-delta-function



